0001953186408999

&0 LhMEIAE @0—e——o>

2014 4 55 3 1t

3 | logio2 = 0.3010, logp3 =0.4771 £ ¥ 5. UFORBIZAZ L.

(1) logip9 Dfifiz kb &.

(2) 107 < 9% < 10188 % 7= 4B ke £ TRTRD L.
(3) 9 HfukiDBEME X &.

(4) 9™ o —DfiOEFE KD L.

(5) 9™ DR EM OB T KD .

(1) Gogd = Legeo3” = 2 Loyn3 = 09542

—_—
@ PR R URIT0) Ey,7. 19T SR 2 Logw3 < 199
i ﬁ= 196 ¢« 199
3 9Pt e nMTLeF 3y, ”
O s q0* ¢ (07 & n-| £ (04850 < 0
q'cy' " * n= (00
-l —_—
(5) o
4 (0%
)64) j__l_____ m 'ZL'-T%& lj: 4@05!1} 'IQDT'D_I = "-]cl.24 _qq = 0-24
towwl 4
Ry
=2 ﬁogm" <0.24 < Q“‘.')""2 £, ..l..//
e ALz,

2@ q'=q,q*= 81,9729, -~
—oLo¥TE ., 2.1.9. 1, g3

q“’d' PSS

/4




